7. Ripple Blanket (crochet)

Approx 36 x40ins [91.5x 101.5 cm].

14 scand 15 rows =4 ins [10 cm].

LIGHT

ContrastA ContrastB Contrast C ContrastD ContrastE
(48005 (48128 (48420 (48615 Lemon (48228
White) Soft Blue) Baby Pink) Custard) Iced Mint)
2 balls 1 ball 1 ball 1 ball 1 ball

Size 5 mm (U.S. H or 8) crochet hook or size needed to obtain gauge.

With B, ch 139.
1st row: (RS). 2 dc in 4th ch from hook

(counts as 3 dc). (2 dc in next ch) twice.

(Miss next ch. 1 dcin next ch) 5 times. *Miss

next ch. (2 dcin next ch) 6 times. (Miss next

ch. 1 dcin next ch) 5 times. Rep from * to
last 4 ch. Miss next ch. (2 dc in next ch)

3 times. Turn.
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2nd row: Ch 1. 1 sc in each dc across. 1 sc
in top of turning ch. Join A.Turn. 137 sc.
3rd row: With A, ch 3 (counts as dc). (2 dcin
next sc) 3 times. (Miss next sc. 1 dc in next
sc) 5 times. *Miss next sc. (2 dc in next sc)
6 times. (Miss next sc. 1 dcin next sc) 5 times.
Rep from * to last 4 sc. Miss next sc. (2 dcin
next sc) 3 times. Turn.

4throw:Ch 1.1 scin each dcacross. 1 scin
top of turning ch. Join B. Turn.

Rep 3rd and 4th rows for Zig-Zag Pat in
Stripes as follows:

**2 rows B. 2 rows A. 2 rows C. 2 rows A.
2rows D.2 rows A.2 rows D. 2 rows A. 2 rows
C. 2 rows A. 2 rows E. 2 rows A. 2 rows E.
2 rows A. 2 rows D. 2 rows A. 2 rows B.
2 rows A*¥*

Rep from ** to ** (36 rows) for Stripe Pat
once more.

Work 2 rows B. Fasten off. =i

Crochet Hook Conversion Chart

Cdn. & UK. Sizes 00 00 0 2 3 4 5 6 7 8 9 10 11 - 12 13 14
Metric Sizes (mm) 10 9 8 7 650 6 550 5 450 4 375 3.5 325 3 275250 225 2
N M L K J 1 H G F E D C B
U.S. Sizes 15 13 11 - 10%21 9 8 7 6 5 4 3 - 2 - 1
Knitting Needle Conversion Chart
Cdn. & UK. Sizes - 000 00 0 1 2 3 4 5 6 7 8 9 - 10 11 12 13 14 15
MetricSizes(mm) 127510 9 8 75 7 65 6 55 5 45 4 375 3.5 325 3 275225 2 175
U.S. Sizes 17 15 13 1 - - 10210 9 8 7 6 5 4 3 = 2 1 0 =
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